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Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : MANAGEMENT
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
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Paper 1



Section Id : 517144127
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144391
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 5171449589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning style" refer to in education?
DB Soaodo?) @grgdld ERTan Ay

Options :

The innate ability to acquire knowledge.
a;awgééa sTees ﬁvéjgsa’m

1. *

The cognitive capacity for critical thinking.

- DB 350555 e %va’mfééém

The personal approach to learning and processing information.
grgRnd, Serardin B o0 Scioe e aNsiaby
4

The teaching methods used by educators.
N H803 7 it Hsa ﬁcge’_‘é}@::

Question Number : 2 Question Id : 5171449590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



How can a positive learning environment enhance the learning process?
fﬁﬁ“é&é g7 ararddnnn, oggd (D8l Oty eiBo Sas0s

Options :

By discouraging collaboration among students.
- S}t:sogtfga} 0G5 DFPsETRY) ADESTHBLE

By providing limited access to resources.

) % HHhe HBDE (HIEE0D @obohiy

By fostering motivation, engagement, and creativity.

o (@86, DS, Gezord)Es DosroBoDHe
3.

By imposing strict rules and regulations.
BN Dchish Deodesh DHoHe

Question Number : 3 Question Id : 5171449591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a key principle of learner-centered methods?
@3R0SI oS SEHe Se K@

Options :

Passive role of students in learning.
. @Eﬁﬂéﬁméﬁ Doghe Aapcsres aJoles

Teacher's responsibility to memorize all content.
IS0 arogodsn HBoDHE LS’ SR args

2. %

Focus on adapting to individual student needs.
Tt Aape ©HHT°ONDH00D e

3.¢

Strict adherence to a standardized curriculum.

[@5rBE aroegodinidd E8dor Stnald Gothiy
4. % ®



Question Number : 4 Question Id : 5171449592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does SWAYAM stand for?
ewe ©0&3 ?

Options :

| % System for Web-based Assessment and Youth-oriented Monitoring

Study Webs of Active Youth for Advanced Learning Management

Study Webs of Active-Learning for Young Aspiring Minds

Sustainable Web-based Academic Yearly Assessment and Management

Question Number : 5 Question Id : 5171449593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary purpose of a Learning Management System (LMS)?
aSressiridy ;’ch@ 36{35‘%}&36’5 08 ﬁéﬁs?ﬁa&b i3

Options :
To manage financial transactions for educational institutions

DTrgoRet @by drRdroren Jerohes
1. # o &

To facilitate communication between students. parents and teachers

) % E)mvédnmﬁ) $8 Solthen, f%o%'“@“édﬁl‘]@ g seden hego S50t

To create and deliver online courses, manage content, and track student
progress

i 2.0 i 53 o e oy
©o80 55&)“3&}-563, g)a108) Hehye, arogodsn BErohe, Do%d DO [t HA]

roBohéd



To replace traditional textbooks with digital resources
JeolRmrahE ardgdHEined S8t SHHos® 6 doine

4. %

Question Number : 6 Question Id : 5171449594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which type of research aims to explore new theories and ideas to generate
hypotheses?
HoBeoern 6863 Ik & HBslE ;fjfgéam,gf’gﬁn ?i}cjgoéa’mﬂéj TSR EISES

ﬁﬁgjﬁmzﬁmé LR ADHEDM.
Options :

Descriptive research
égmég 58885

Exploratory research

@55ﬂaaﬁégé 588858
2.9 :

Experimental research
DArHRHE 5068558

Quantitative research

Slelanold 588855
4, % ’

Question Number : 7 Question Id : 5171449595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Positivism in research emphasizes:
5B8°SHE’ 58 BAD esaoHidy

Options :

Subjective interpretation and personal beliefs

EEahghd DD, 5N Diysten
1. ®



The importance of intuition and gut feelings
085659, @0o|SHne GolTe (@rsnggs

2.
The use of rigorous scientific methods to uncover objective truths
QBT e 308 Boinexs® EBIHS QD HHe &5
3.¢
The rejection of empirical evidence in favor of abstract theories
36ri; drzodo edhireornr, edgrds JFgrst)) NoeEBobés
4, ®

Question Number : 8 Question Id : 5171449596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the first step in the research process?
508550 (HBHSE® Insd ©HiH A6

Options :

Data analysis
Sarod D3es

Writing the research report
5888438 BEFY raing

Formulating research questions or hypotheses

J 58855 e, HbBeapen %805
3. %

Conducting a literature review
(gleln) ﬁﬁbé Saknea

4. %

Question Number : 9 Question Id : 5171449597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The appendices section of a thesis includes:
2.€ H0885% g edtogre Derisost ond dothi

Options :



The acknowledgments and dedication pages
P50, woldodatn Dden

A list of all the tables and figures in the thesis
?omanoé at;sﬁ&’mt:@’s 5’3%5&:, ®08e) srilae

Extra information, such as data tables, survey forms, or supplementary
materials

v terod E{’J%ED, ;,}65 groren, @iy @oden Hofd @hHE Jlroetisin
3.

A detailed description of the research methodology
568%55 HE8 Dnd DBBes

Question Number : 10 Question Id : 5171449598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How does ICT impact research dissemination?
ICT 588%5ae ol 2 Hiod (Hgrdo Hrhdod

Options :

It limits research dissemination to local audiences only
568 ghR FE (B80T H6Eo Vhod

It enhances research dissemination through online platforms, social
media, and open-access journals

=580 JbBen, FEras SrdEndn, Hadin 88D &3) DSB8 oo
58880 a7ge) BHEos

2.
It replaces the need for written research reports
. HBE°ES (o BEFRe wBdoeR) 8 Bnod
3.
It discourages researchers from sharing their findings with others
%885 5%en s=dm E"$H asheH ©oBoSH0sd AheE HERok
4, %

Sub-Section Number : 2



Sub-Section Id : 517144392
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 5171449599 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:
He0E: 8O @ 52280 Darird0 SO0 Q. 11 000G Q. 15 (233 ©3) QaFTwren
[rododbs.

The investigation of the geology of all the places visited was far more important, as
reasoning here comes into play. On first examining a new district nothing can appear
more hopeless than the chaos of rocks; but by recording the stratification and nature of
the rocks and fossils at many points, always reasoning and predicting what will be
found elsewhere, light soon begins to dawn on the district, and the structure of the
whole becomes more or |less intelligible. | had brought with me the first volume of
Lyell's ‘Principles of Geology. which | studied attentively; and the book was of the
highest service to me in many ways. The very first place which | examined, namely St.
Jago in the Cape de Verde islands, showed me clearly the wonderful superiority of
Lyell’'s manner of treating geology, compared with that of any other author, whose works

| had with me or ever afterwards read.

éc}cﬁﬁgoﬁé o) e z:ﬁﬁég Qo G HB8%5E  orew ANV AN DotHEod
=[G =eb)Fo ©end®d $Hod. B8 (grodo Inde ;’Jﬂfﬁﬁ}oﬁ}é;’@iﬂj oof  KotsBRMEo
$) DDEIDOS. 520 Te) DB Beraro @Y @SE drano HBEB B D
58 8520 Jaho TR, oot S8odo HBASH HBEE Efirdathidos® wodae
S0Hto wRoe, @ B8 (@roson r0 Jenrd [HH:500.

S0 tégr'r} ogsabido 358 DS @g)’ (D) o 2arerd '@ Fotsd
DoDbo S Do T o3 dgrenre A5y Heaho D208, 3D H68000% Tnsd
53¥o, 85 & 5;:3 85eS Dowods emRd. oo alate -] S e Soxs SHDS 288
BSonses® DD, DS @) ofpdHd PrY) FRo TH Qo efo eongod.

Sub questions



Question Number : 11 Question Id : 5171449600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The author is interested in the study of
BSone ©iohdop wXE BOA .
Options :

Environment
;’}Uaﬁa’}ésao

rocks and fossils
feren 08D Bersren

nature
25)S

minerals
FaleIeen

Question Number : 12 Question Id : 5171449601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
On his first investigation, he finds the rocks very
SSomd 88 [grodo HotiRoddad o) QN SPrakd.

Options :

disorderly
@O &)
| BB Al

disturbing
é@ééi}%

welcoming
iBoS

3. %



inhospitable
e3t3BoSA

4. %

Question Number : 13 Question Id : 5171449602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘light soon begins to dawn’ means
‘e‘_‘éﬁﬂfstﬁ’s S (H:H506:508 @0él

Options :

day-breaks
S0 ob

Sun shines brightly
Kedogth (Bseddodone (Hse8arih

clarity emerges about the situation

L HERB D e S0
3. -

daylight begins
UG et (arBogisha)enod

Question Number : 14 Question Id : 5171449603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author finds the book, ‘Principles of Geology' as most

BSome FRDE B Hrlgeen D5 @0 B SRS,
Options :

exemplary

@eﬁiﬁ%@v@ﬁ)@eﬁ
1.v

imperfect

©0:3PB D



mediocre
TGRS i

3. %

inferior
TPRBE N

Question Number : 15 Question Id : 5171449604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Mr. Lyell is an/ a
&QE DS a.8

Options :
Geophysicist
BArHRND

[ % &
Author

) % Bdomes

Geologist and author
3 ai,mé.’j@;é @@ég 508 Bdomes

explorer

E}éﬁéﬁéjﬂﬂ}
Sub-Section Number : 3
Sub-Section Id : 517144393
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 5171449605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in
establishing a constructive relationship.
SESVEAER oarmrod Jarbiiod Hhbchn Joyedl Konoerd)

Qéajiﬂiﬁtﬁo@s ISEveviisTastivleln)




Options :
positive

e
1. &

passive

reflective
6’5@6 e 55 &0 Sl

retentive

edes 38 He
4, ®

Question Number : 17 Question Id : 5171449606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in establishing credibility as a
professional
(EPRRS éé})ﬁ&]éa’ﬁ@ﬁ ™ 6080 H9 @ﬁgﬁfﬁ: BTy %Saoiﬁéoeﬁ’s
Defahatodod
Options :
reserved
abeSgrral

confident

éé}&éo
2. %

soft spoken
é}éiﬁ]w&

indifferent
&%

Question Number : 18 Question Id : 5171449607 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Classroom communication is effective only if the teacher is
Stvinidevnlay) SBRS 16 éémgﬁ]éﬁﬁ Bgiddosorr &otnod

Options :
emphatic

; 5
| SPE)HEYE

empathetic
- F2hd Ko 7% eond

gentle
%“ém@tﬁ} ©ona
3.8
loud
ARBre IS
4. ® 0

Question Number : 19 Question Id : 5171449608 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Usage of can be avoided in inter cultural communication to steer
clear of misunderstanding and ambiguity

@088 Hoysd Hoerhedt, HAD LEerHe Sed @%ﬂgo oBc5n eHSR
VardoBLR.

Options :

translation
IV EVEIALS

non -verbal communication
Eﬁﬁnﬁg}g Hogrdes

accent
oV i8]



jargon
20,
4. ¢

Question Number : 20 Question Id : 5171449609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

One of the important forms of traditional media is

E_'l
Ir,
5

Tofdorad HregigEoo ang) Sneggdd Sraredd

Options :

Theatre and drama

Bohoeo subdm oeégo
1.¥ @

Newspapers
PTR(BEen

Novels
3 % Do

journals

4% s(B8en

Question Number : 21 Question Id : 5171449610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
6,8,19,61249,

Options :
1249
1. %

1261

2. %

3 ¥ 1251



4 x 1256

Question Number : 22 Question Id : 5171449611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

ABFL, BDLX, CFRJ, DHXV,
Options :
EICH

1. #

, » EJDI

, » EJDH

, » FICH

Question Number : 23 Question Id : 5171449612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word SOLUTIONS is coded as SNOITULOS,

then the word ANSWER coded in that language is

RENSAW

2. %

. REASWN
3. %

. REWSNA



Question Number : 24 Question Id : 5171449613 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The cost of 3 pens and 21 pencils equal to the cost of 5 pens and 7 pencils. The

ratio of the cost of a pencil to that of apenis

3 VAN DA 21 DD ) A 5 DD €0 B0 7 D)D) ABED dT0.
IO BS SHBAM D) BB DA e

o oo

Options :

L% 73

4. 17

Question Number : 25 Question Id : 5171449614 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
An A.C. is purchased for Rs. 55,000 and sold it for Rs. 44,000. The loss

percentage is__

wh

2.5 DD E5°. 55,000 5 20BN TR E3*. 44,000 €908 70 SN0 TS0
Options :
15%

1. %
25%

20%

33%



Question Number : 26 Question Id : 5171449615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

Some gold are silver.
Some silver are bronze.
No bronze is iron.
a5 Er5en:
Eoeh 20md0 J0b.

£ da&en 5F00 0.
Z01 @O0 QA 52D,

Conclusion:

I Some bronze are gold.

I. Some iron being bronze is possibility.

1. Some iron being gold as well as silver is a possibility.
ST

I ) Soarex 2000,

II. 5065 Qa0 S0 03 e955°50 SG0d.

IIL. 065 @50 20TTH0S aren S0 SreF S0R 95530 &0l

Options :
I and I follow
| & Ie0OCIN I e80T
IT follows
T e9:80705%000
2.9
O and TT follow
II 000 I 2000100
3.
IO follows

4 % I &@e00000D

Question Number : 27 Question Id : 5171449616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 80 students 30 students like tea, 35 students like milk and 25
students like coffee. It is also known that 15 students like both tea and milk, 17
students like both milk and coffee and 14 students like both tea and coffee, 9
students like tea, coffee as well as milk. The total number of students who like
neither tea nor coffee nor milk?

80 sDOA DTTsDENS TS, 30 0B Deoezdoen ¢3, 35 000 Frew, 25 Hod
TR andderd. 15 06 Jorsden €3, ren, 17 H0O Dersdden rew, STaew,
14 5008 Deshen €3, sRen, 9 D0 Dstven ¢, 525, ren efhehar) K. €3,

LU N

55, ;e ARG D7D Do Joes?
Options :

L 27

2. " 12

3 % 10

4% 8

Question Number : 28 Question Id : 5171449617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’s brother related to me?
S0 ) TTO 70 0 28 TS Sy, 88 85510588 750 D000 De3?
Options :

Father

, » Paternal Uncle
3 & Maternal Uncle

, w cousin

Question Number : 29 Question Id : 5171449618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indeterminate) is made with respect to which of the following pramanas?
DdseenE {&‘Jga‘@é&éo) VSIS {?Jggg_) s0gy S0 S8 1Bod

TBSE O (Hrerd8 Fohadod
Options :
Anumana (inference)

| x ©NEFES (wodse)

Pratyaksa (perception)

L v B (oBmEs)

Arthapatti (postulation)
Sletsls (895:5859)

Upamana (comparison)
&3 (8¥DY)

Question Number : 30 Question Id : 5171449619 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Consider the following statements and choose the right option

B85 %ﬁﬁ}@éﬁ@é} HBKRHE"8 8ol Fboin HBD BIS doDE ok,

(a) Middle term should be distributed in atleast one premise
55520508 BDG0 2.8 H5hoDos® Hodd DoirD.

(b) Middle term should be present in the conclusion
HnhAoHE Sogly HXo Gowed.

(c) Both premises can be particular in a valid argument
Beparén edy arSHS® Both [Haboiren DBgJor SoBSHE).

(d) Both premises can be negative in a valid argument
eneTetn @(ﬂ)é at556S° Botdh (Habdiren (H8EreoMT SOEDI.

Options :

L% (c) and (d)



Only (c)
2. %

, » (®and(0)

Sub-Section Number : 4
Sub-Section Id : 517144394
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449620 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.

He0%: 180 @ 52080 DTG0 e33O0 Q. 31 D0 Q. 35 (234) O30 DATTEEN
lsohod.

The line graphs give the sales and expenditure of a company across five years,
starting from 2010. The value of both sales and expenditure for the year 2010 is

indexed to 100. It is known that the profitin 2012 was Rs. 1 cr.

2010 VOB (2rB0250THE 0TF € Z0DA) 9502570 HOOI $I5A5FEID
Bod BS RN oA OW. 2010 H0:5¢5 JTRE 9502571 HOHCASD 55000
BoA0E3 Densd 1008 JHrdE TOVDR0O. 201263 er250 6. 2.8 T3 .
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Sub questions

Question Number : 31 Question Id : 5171449621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In at least how many years did the company make a profit?

B
E00, ) HoSS TS E0DA) eFeTreId SQoDoB?

Options :

1. % 2

2. ¢ 3



Question Number : 32 Question Id : 5171449622 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which year was the profit the least ?

Q HOXBIB0S @8 B8y €50 SDJ0A ?
Options :
| = 2010

, x 2012

2014

Can not be determinead
QPONOWIGB0 L0 TED

Question Number : 33 Question Id : 5171449623 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0
In which year the percentage income in sales is highest?
2 505651806 9505 965 A Fe50 STON0 SO ?
Options :

| 2011

2012

Question Number : 34 Question Id : 5171449624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the sales of the company in 2010 was Rs. 250 cr. Then what was the profit in
2013

201065° 070 DEOSTeN &0, 250 FEW €9:9)¢0 20136 7250 Joeh?

Options :

| % 86Cr

10.8 Cr
o

5w ll4Cr

141Cr
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0
What was the approximate percentage decrease in profit in 2012, when
compared to 20117
20118’ FOW 201285" er50S’ Hdrdh o FEo ShHod ?

Options :

. % 6

Can not be determined.
4 VRONOTIBO AP0 57

Sub-Section Number : 5
Sub-Section Id : 517144395
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the full form of 'GIF' ?
'GIF' 538 oesabah ?

Options :

Global Internet Format
1. ®

5 % Global Interface Format

v Graphics Interchange Format
3.9

Graphical Interface Format
4, ®
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What is the primary function of an IP address?
IP Dharsir argshE 0§ &b ?

Options :

To identify a device on a network
- ISBBpS® 8.8 HBZeR) B0

To store WebPages
38 wded P Jane
2. %

To process email messages

5 % BeDODEeD B8O 2)0aHed

To encode video content
4 % DBRE DX 25 Datne
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Correct Marks : 2 Wrong Marks : 0

SWAYAM PRABHA is a group of.............
xaho(zgs 58 GIog) Hauresieain

Options :
30 DTH channels
30 B832rS anémg

1. ¥

40 DTH channels
40 BB&2rS anﬁé;g

60 DTH channels
| x 60885 TR

80 DTH channels

80 A82r5 aﬁé@
4.
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Correct Marks : 2 Wrong Marks : 0

Which of the following ICT initiatives of MHRD deals with E-governance for institutions
[ Universities?
G90.20.¢95.8 Bk & DD ohd SPEHe Soge HE durgociret
Ro2080HR.
Options :
SWAYAM

1. %

5 SAMARTH

3 » VIDWAN

IRINS
4, %
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Correct Marks : 2 Wrong Marks : 0

What does the term "Wi-Fi" stand for?
'B2" @dre 38 ?

Options :
Wide Frequency

® EE gﬁ;\, 2

Wireless Function
% EE@E $o§5’n

2.
Wireless Fidelity
- 3685 H808
Wide Functionality
y 36 HogT0d
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which year was the United Nations Commission on Sustainable Development
(CSD) started by the UN General Assembly?
@oéﬁgé&dﬁj Ferpiies ©208) % Bod HoHSBoss BHD @B @}Déocgécjﬁa

g8 (@rtododob.
Options :
| 1992

, 5 1993

, « 1994

1885
®

Question Number : 42 Question Id : 5171449632 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0



Which of the following is not a negative impact of urbanization on the
environment?
TFEdtnodt, % 8105 @odsn é%n’%ééa&?ﬂ mmé@é (2dgrado Weath

Options :

Deforestation

| ©Ed) ?Jtijvéa}é

Pollution
sv@a?’qgo

Waste recycling
Sgore Bpgord

Loss of biodiversity
L5355 Sapen
4. %

Question Number : 43 Question Id : 5171449633 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0

Which of the following gas is more in percentage in the air?
&t )28 Fosodd 6i)  PAMY S0 ?

Options :

Oxygen Gas
ea8yesi

Nitrogen Gas

SlePeso
2.

Water VVapour

; & OB =8B

Carbon Dioxide Gas
ﬁ“ﬁg SDENFD TS0
4, ®
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Correct Marks : 2 Wrong Marks : 0

Why biogas is considered a ‘good’ source of energy?
2@rrod a8 Hodds Sdthrr dothded HBNBrm

Options :
as it produces ashes
b ardisid 653 35708

as it produces methane

, x ©B DPSD 658 THod

as it burns without releasing smoke

3 ¢ @b &£rF Bowe Hothdod

as it decomposes in the absence of oxygen
o825 5% 3foh §8%0b

Question Number : 45 Question Id : 5171449635 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What is objective of the Paris Agreement/Accord?
b aondy/ D58 A oFgE®

Options :

Decrease Global Warming below 2 degrees Celsius

v 2355035 3%@@&}5} 2 &lhe HSHoHD BHIHDL ShHohey

Decrease Global Warming below 3 degrees Celsius
5 w BEH0S ﬁéé}&é}é} 3 &lfe HSEHD HIHHS Shohe

Decrease Global Warming below 1.5 degree Celsius
3 % 2355033 ééé}éﬁaé} 1.5 &fe DHEHEHD HIHDH e:‘éﬁor:i}éa



Decrease Global Warming below 1 degree Celsius
HH0% DeEn 1 Blfio DSHhoHD BIHHH Shohes
4. %

Question Number : 46 Question Id : 5171449636 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Under whom, Nalanda was greatly ransacked by the army of Mamluk dynastic of
Delhi Sultanat?

&8 herars @nY) Sros GorRB pdgn 258 HBsroRS® Soowe AEpDHT
rairgabob.
Options :
Chandragupt Maurya

1. %

Aurang jeb
3 Bakhtiyar Khiliji

Allaudin Khiliji
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Correct Marks : 2 Wrong Marks : 0

The main governing body at the tertiary level of education in India is....
mobdir dogBon éej@d:’n} %;03345‘5 Swgyg HoareD éo?’m:f

Options :
NCERT

, % CBSE

AICTE

3. %

4 UGC



Question Number : 48 Question Id : 5171449638 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of conventional learning programme in India?
&8 BI08 7S 0B moBdirs® FroHmrany ST IR T e

Options :
Yoga
L% aleiy
Fine Arts
ode B¥fen
2. %
Agriculture
D
3 ¥ SR RPADED

Fashion Designing
28 BreH8ens

Question Number : 49 Question Id : 5171449639 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 2 Wrong Marks : 0

One among is not a Core Critical Thinking Skills
zotHe? 288 8085 Lo wdbSoe Jadesgin 5°thH
Options :

Interpretation
D Bes

Analysis
DEGes

Self-regulation
fﬁ&:ﬁ) Qa0



Self esteem
«?_aéé S0
4.

Question Number : 50 Question Id : 5171449640 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level is.....
&) &m&%;m@ﬁ 0655 Ging) Sy eFsEn

Options :

To prepare students to pass examination
Sjmugtig@éa ﬁééﬁﬁﬁ a@eﬁgﬂ@m@gﬂ SSsrEHBohne

1. %

To develop the capacity to take decisions

DBaHo ST 480 )R Dot
2. B = @

To give new information

58 Sdrordo s
3. %

To motivate students to ask questions during lecture

s Hhohosd 3]{:}13?56&%@&3 (e Sa06H (30H0HE
4. %
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Question Number : 51 Question Id : 5171449641 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT one of Drucker's five guiding principles of
management?
Options :

% Making people's strengths effective and their weaknesses irrelevant.

5 % Enhancing the ability of people to contribute.

3 To operate the organization’s status system.

Integrating people in a common venture by thinking through. setting and

4% exemplifying the organizational objectives. values and goals.

Question Number : 52 Question Id : 5171449642 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Management 1s called an exact science.
Reason (R): Management deals with complex human behavior. which cannot

be determined with accuracy.
Options :

L% Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

Both (A) and (R) are true. but (R) is not the correct explanation of (A).

2. %

(A) 1s true. but (R) 1s false
3. %

(A) 1s false. but (R) 1s true
4. ¢

Question Number : 53 Question Id : 5171449643 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What 1s the guiding principle behind New Public Management?
Options :

Profit maximization

1.
Introducing private sector business principles into the public sector
33 Replacing public management with private sector management
Restructuring public organizations
4. %

Question Number : 54 Question Id : 5171449644 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the techniques of scientific management in List —I with their objectives in
List-IT and choose the correct answer from the options given.

List- I List —1II

I Time Study (a) | Eliminates unnecessary movements in
doing a job

II Motion Study (b) | Determines standards

I | Method Study (c¢) | Determines rest intervals

IV | Fatigue study (d) | Finds out one best way of doing a job

Options:

Options :

I(b): II (c): ITI (a): IV (d)
1. #

I(b): II (a): III (d): IV (c)
2.



I(d): II (c): 1T (b): IV (a)

3. %

I(c): II (b): III (a): IV (d)

Question Number : 55 Question Id : 5171449645 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Improving quality through small. mmeremental improvements is a characteristic of what
type of quality management system?
Options :

Kaizen
1.

Just-in-time
2. %

Six Sigma
3. %

Total Quality Management
4, %

Question Number : 56 Question Id : 5171449646 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

To what does emotional intelligence refer?
Options :

| % How people view and understand themselves.

How people view and understand the world.

3 How people view and understand themselves and others.

How people view and understand others.
%



Question Number : 57 Question Id : 5171449647 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors keeps the price elasticity of demand for a product low?
Options :

Low priced product

, % C lose substitutes for a product
3 % Variety of uses for a product

4 % A high proportion of income spent on a product

Question Number : 58 Question Id : 5171449648 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Demand curves have a negative slope because-

Options :

" Firms tend to produce less of a good that 1s more costly to produce.

The substitution effect always leads consumers to substitute higher quality
goods for lower quality goods.

The substitution effect always causes consumers try to substitute away from
the consumption of a commodity when the commodity's price rises.

An increase m price reduces real income and the income effect always
causes consumers to reduce consumption of a commodity when income

4 % falls.

Question Number : 59 Question Id : 5171449649 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If a firm has a downward sloping long-run average cost curve. then it is a case of

Options :

Decline 1n total cost
1. %

Decline in cost per unit
2.¥

Decline in average variable cost

Decline in marginal cost

Question Number : 60 Question Id : 5171449650 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s NOT a characteristic of a corporate social responsibility
tramework?

Options :

Retamning the status quo
1.v HESSS e

Building capacity
2. %

Understanding society
3. %

Harnessing society
4, ®

Question Number : 61 Question Id : 5171449651 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



A manager’s role changes from a leader’s position to a partner’s position in which of
these types of organisations?
Options :

Autocratic
1. %

Collegial
2.

3 % Supportive

Custodial

Question Number : 62 Question Id : 5171449652 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

According to Tuchman (1965). which of the following is NOT a stage of the life
cyele of a group?

Options :

L% Performing

Norming

3 « Reforming

. Storming
4. % £

Question Number : 63 Question Id : 5171449653 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s NOT part of Schein's model of the formation of culture?

Options :



Pre-conceptions
1. ¢

Shared values

2. ®
3 % Shared beliefs
4% Norms

Question Number : 64 Question Id : 5171449654 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is T-group training?

Options :

A group whose aim 1s transformational change
1. #
5 % Team training for the purposes of advancing technology
3 Team building activities involving learning

A group brought together to deliver training programmes
4, %

Question Number : 65 Question Id : 5171449655 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of these is NOT an advantage of a virtual team?
Options :

No overhead costs associated with physical buildings.

Low transport or commuting costs.
2. %



5 % Leam members can be recruited for their specific skills or experience.

Contlicts can be resolved easily using face-to-face meetings.
4. v

Question Number : 66 Question Id : 5171449656 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What type of organizational culture 1s most likely to deliver stability and
efficiency?

Options :

| % Task culture

Role culture
2.

3 % Power culture

People culture

Question Number : 67 Question Id : 5171449657 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion (A): Recruitment is a positive step in the process of staffing.

Reason (R): Internal sources of recruitment boosts up the morale of the employees.

Options :

% Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

2.9

- (A) 1s true. but (R) 1s false



(A) 1s false. but (R) 1s true
4. ®

Question Number : 68 Question Id : 5171449658 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s not a stage in the systematic training cycle?
Options :

Assessing training needs

, % Planning the training

3 « Job instruction one to one basis

4 % Evaluation

Question Number : 69 Question Id : 5171449659 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The addition of new tasks into the job broadens the concept of job is classified as:

Options :

Job Enrichment
1. ®

) Job Enlargement

Job Validity
3. %

Job reliability



Question Number : 70 Question Id : 5171449660 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The purpose of job evaluation is:
Options :

Wage determination

1. %

Promotion
2. %

Fixation of responsibility
3.¢

Transfer to a better job

Question Number : 71 Question Id : 5171449661 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the ‘category of compensation” with ‘compensation plan’ and select the
correct answer from the options given below:

Category of Compensation Compensation Plan
I | Pay for time not worked (a) | Saving plan
IT | Services and perquisites (b) | Stock option
IIT | Protection programme (¢) | Pension
IV | Incentive pay (d) | Sick leave
V | Deferred pay (e) | Low cost meals
Options:
Options :

I(c): I (d): OI (b): IV (a): V ()

I(d): II (e): III (c): IV (b): V (a)



I(d): II (e): III (a): IV (b): V (c)

L % I(c): I (e): I (a): IV (d): V (b)

Question Number : 72 Question Id : 5171449662 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What 1s the process of deciding how to fill company’s most important positions?
Options :

Organisational Restructuring

Corporate Downsizing

2. %

Self-directed Teams
3. %

Succession Planning
4.

Question Number : 73 Question Id : 5171449663 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Team learning. a characteristic of a learning organization. can be deseribed by

which of the following i1deals?
Options :

% Individual aspirations
5 « Shared dialogue

3 # Reco gnize and nurture needs

Shared vision



Question Number : 74 Question Id : 5171449664 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The balanced scorecard proposes that organisational success depends on:

Options :

| % A focus on only the internal environment of the organization

A constantly changing external environment

an ability to develop a complete list of cause and effect relationships driving
3 « afirm's success

the belief that 1t 15 impossible to take a rationalist view of the organisation
to make optimal choices

Question Number : 75 Question Id : 5171449665 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the List —I with the names shown in List-IT and select the correct answer
from the options given.

List -1 List - II
I | Model of Change (a) | Peter Drucker

IT | Behaviour Event Interviewing (BEI) | (b) | Mc Kinsey

IIT | Management by Objectives (MBO) | (¢) | David Mc Clelland

IV | Concept of Talent Management (d) | Kurt Lewin

Options:

Options :

L I(d); I (c): III (a): IV (b)

I(b): II (a); I (d): IV (¢)



I(d):; II (c); II (b): IV (a)

I (c): I (b); I (a): TV (d)

Question Number : 76 Question Id : 5171449666 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What are the uses of competency mapping?

a) Designing compensation plans

b) Assessing and selecting candidates for a job
c) Planning for organisational development

d) Employee training and development

Choose the correct answer from the options given below:
Options :
(a) and (c) only

1. *

- (b) and (d) only

3 % (a) and (b) only

(¢) and (d) only

Question Number : 77 Question Id : 5171449667 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What 1s the purpose of a 'mystery shopper'?
Options :

A person who pretends to be a manager to test the service process.
1. #



A person who pretends to be an employee to test service process.

3« A person pretends to be a real customer to test the service encountered.

A person who works for a competitor and pretends to be a customer to test

the service encountered.
4. %

Question Number : 78 Question Id : 5171449668 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which amongst the following 1s / are the matters to be provided in the standing

orders?

a) Attendance and late coming
b) Shift working

c) Adequate working conditions

d) Water facility
Options :
. Only (a)

) % Only (b)

3. ¥ Both (a) and (b)

Both (a) and (c)

Question Number : 79 Question Id : 5171449669 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Organisation development (OD) 1s founded on the belief that using behavioural

science methods to inerease collaborative problem solving would merease-

Options :



| Organisational effectiveness

5 % Organisational reputation
Organisational turnover

Organisational climate

Question Number : 80 Question Id : 5171449670 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
A fair day work for a fair day pay’ denotes a sense of telt by employees.

Options :

| % Responsibility

Respect

3 % Happiness

Equity
4 quuity

Question Number : 81 Question Id : 5171449671 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Rearrange the steps mentioned in a remuneration model.

a) Pay survey

b) Job evaluation
c) Pricing jobs

d) Job hierarchy
e) Job deseription

Options :



L% (a). (b). (c). (d). (e)
S % (d). (c). (b). (e). (a)

3. % “ﬂ (b). (d). (a). (¢)

L% (e). (a), (c). (d). (b)

Question Number : 82 Question Id : 5171449672 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with the List —IT and choose the correct answer from the options

given below:

List - I List - IT
(a) The business will operate for a
I | Business entitv princi long period of time and 1t will
usiness entity principle y .
not be dissolved in the near
future
IT Gor 5 (b) The accounting equation.
oing concern prineiple ‘. g e A
Assets= Capital + Liabilities
III Aecoiunting penod pmsph (e) Personal affairs of the owners
B should not be considered
(d) The revenues of a particular
v | Dual aspect principle period must match with the
expenses of that period
(e) The revenues of a particular
period must match with the
expenses of that period
Options:
Options :
| x 1. T(b). T (), IV ()
) I(c). I (a). I (). IV (b)

s % 1©. (). M. IV (a)



1(d), I (b), III (). IV (a)

Question Number : 83 Question Id : 5171449673 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Where do we show Provision of bad debts in final accounts if given in
adjustments?

I. Debit side of Profit and Loss Account
II. Credit side of Profit and Loss Account
III. Deduct from Debtors in Balance Sheet
IV. Add to Debtors in Balance Sheet

Options :
| % landIV

I and 111
2.

II and TV
3. %

I and ITI
4, %

Question Number : 84 Question Id : 5171449674 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Balance sheets are based on which of the following formulae?
Options :

| % Assets = Liabilities — Stockholders” equity

. Assets + Liabilities = Stockholders’ equity



Assets = Liabilities + Stockholders’ equity
3. ¢

Assets + Stockholders’ equity = Liabilities
4, ®

Question Number : 85 Question Id : 5171449675 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Determine stock turnover ratio if, Opening stock 1s Rs 31,000, Closing stock 1s Rs
20.000. Sales 1s Rs 3.20.000 and Gross profit ratio 1s 25% on sales.
Options :

8 times
1.9

) % 11 times

3 % 14 times

32 times

Question Number : 86 Question Id : 5171449676 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Depreciation charged on fixed assets in the Funds Flow Statement 1s considered as

a) A source of funds

b) An application of funds

c) Source of funds in limited sense

d) Added back to the operating profit to find out funds tfrom operations
Options :
(a) and (d) only

1. #

5 % (b) only



3 % (d) only

(c) and (d) only
4.9

Question Number : 87 Question Id : 5171449677 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
A non-trading company pays Rs. 5.00.000 to acquire shares Bloomberg Limited

and it received Rs.40.000 as dividend after acquisition. In the Cash Flow Statement.
these transactions will result in:

Options :
| % Cashused in investing activities - Rs. 5.00.000

) % Cash generated from financing activities — Rs. 5.00.000

Cash used in investing activities — Rs.4.60.000
3.¢

Cash generated from investing activities — Rs. 4.60.000

Question Number : 88 Question Id : 5171449678 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A company proposes to introduce a new product m the market. The company wants
to maintain profit-volume ratio at 25 percent. If variable cost of the product is
Rs.600. what will be its selling price?
Options :
Bs.500

Rs.600
®

Rs.700



Rs.800

4.

Question
Mandato

Number : 89 Question Id : 5171449679 Question Type : MCQ Option Shuffling : No Is Question
ry : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are NOT assumptions of Marginal Costing?

a)
b)
c)
d)
<)

The total cost can be segregated into fixed and variable costs.
Fixed costs per unit of production remain constant.

Variable cost remains constant per unit of output.

The selling price per unit remains unchanged.

Variable cost 1s variable per unit.

Choose the correct answer from the options given below:

Options :

1. " (EJ

2.

5 % ©)

4 % (b)

Question
Mandato

and (b) only

b) and () only
g/( ) and (e) only

and (d) only

and (c¢) only

Number : 90 Question Id : 5171449680 Question Type : MCQ Option Shuffling : No Is Question
ry : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following model /method makes use of beta in calculation of cost of

equity?
Options :

Ri
1. ®

sk Adjusted Discount Method

v Capital Assets Pricing Model



Miller—Modigliani Model

4% Price-Earnings Model

Question Number : 91 Question Id : 5171449681 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The cost of equity share capital 1s greater than the cost of debt because-
Options :
Equity shares carry a higher risk than debt

1. ¢

Equity shares do not provide a fixed dividend rate
3 % Equity shares are not easily saleable

12 face value of equity shares 1s lower than the face values of debentures
The f: 1 £ ty sl | than the f: | f debentt
& 1 most cases

Question Number : 92 Question Id : 5171449682 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Zero-based budgeting forces managers to:
Options :

| % Estimate a products revenues and expenses over its expected life-cyele

> % Prepare a budget based on historical costs
3 % Formulate a budget by objective rather than function.

v Justify all expenditures at the beginning of every budget period.
4. %



Question Number : 93 Question Id : 5171449683 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The ratio of the percentage increase in earnings per share (EPS) to the percentage
increase in earnings before interest and taxes (EBIT) is referred to as:

Options :

Operating Leverage

Financial Leverage
2. ¢ -

Combined Leverage

Working Capital Leverage
4, %

Question Number : 94 Question Id : 5171449684 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When the nominal rate of interest 1s 10% per annum and there i1s quarterly

compounding, the effective rate of interest will be:
Options :

| % 10% per annum

5 & 10.10% per annum

10.26% per annum
3. %

10.38% per annum
4. &

Question Number : 95 Question Id : 5171449685 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  Trading on equity raises the return on equity to the sharcholders
of a company.

Reason (R): The cost of debt 1s lower than the cost of equity and interest paid
on debt 1s tax deductible.

Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

Both (A) and (R) are true, and (R) is not the correct explanation of (A).

. (A) 1s true. but (R) 1s false

4 % (A) 1s false. but (R) 1s true

Question Number : 96 Question Id : 5171449686 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s true for a project with a shorter payback period?
Options :

The project will have a lesser risk

, % The project will have less Net Present Value

. The project will have more Net Present Value

4% The project will have a greater risk

Question Number : 97 Question Id : 5171449687 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



If capital 1s to be rationed for only the current period, a firm should probably first
consider selecting projects by descending order of:
Options :

. Net present value
1.

Payback period

3 % Internal rate of return

Profitability index

Question Number : 98 Question Id : 5171449688 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which theory advocates that the dividend policy of an entity is a part of its financing
decision?

Options :

Miller M and Modigliani F.

) Residual Theory of Dividend

3 % Walter J.E.

4. % Gordon

Question Number : 99 Question Id : 5171449689 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When managers commit errors of over-optimism in evaluating merger opportunities
due to excessive pride or animal spirit is termed as:

Options :



|« Hubris Hypothesis

Managerialism

2.

- Information Signalling
Sitting on gold mine

4,

Question Number : 100 Question Id : 5171449690 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The defence mechanism being used 1s anti- takeover amendments to the company’s
or articles of association are known as:
Options :

Poison Pill
1. ®

Shark repellents
4
Packman

Crown Jewel

Question Number : 101 Question Id : 5171449691 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The acquisition of a company or division of another company. fanced with the
substantial portion of borrowed funds 1s known as:

Options :

Corporate finance

, % Institutional finance



3 ® Rehabilitation finance

4 Leveraged Buyout

Question Number : 102 Question Id : 5171449692 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

With reference to Capital Asset Pricing Model. consider the following statements:
Statement — I: Beta 1s a measure of a security’s risk relative to the risk of market
porttolio.
Statement — II: The value of Beta measures both the systematic and unsystematic
risks of a security.

Which of the statements given above 1s / are correct?

Options :
Both the statements - [ and IT are correct.
1. %
) % Both the statements - I and IT are incorrect.

3 « Statement —I1s correct, but Statement —II 1s incorrect

Statement —I 1s incorrect. but Statement —IT is correct

Question Number : 103 Question Id : 5171449693 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Match the List-I with the List-IT.

List - I List - IT

Contracts which can be exercised only at the

date of maturity

(b) E’ontm?ta ‘.T.'hicll give the buyer the right but

not obligation

fit | Options © Contracts which can be exercised at any time

before the maturity date

(d) E'onltr{ictsl are non-standardised and suffer
the 1lliquidity most

Contracts where buyer and seller agrees to

V | European option (¢) | exchange assets on future date with the

involvement of stock exchange

I | Forwards (a)

II | Futures

IV | American option

Choose the correct answer from the options given below:
Options :

L% 1(e).I(b). I (¢). IV (a). V (d)

I(e). II (a). I (b). IV (c). V (d)
2. %

;% L@ I, (). IV (), V ()

4 o 1(d). 1 (), II (b). IV (c), V (a)

Question Number : 104 Question Id : 5171449694 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If the US dollar appreciates relative to the British pound.
Options :

It will take fewer dollars to purchase a pound

1. ¢

It will take more dollars to purchase a pound
2. %

3 % It 15 called a weakening of the dollar



Both (A) & (C)
4. ®

Question Number : 105 Question Id : 5171449695 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

India’s foreign exchange rate system is:

Options :

Free float exchange rate system
Managed float exchange rate system
Fixed exchange rate system

Fixed target band exchange rate system

Question Number : 106 Question Id : 5171449696 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Factoring agency 1s a service provider to a firm that extends the services of:
Options :

| % Fixation of economic ordering quantity

) % Fixation of minimum cash requirement level

Sales ledger administration and credit management

4 % Managing client’s logistic and sales management

Question Number : 107 Question Id : 5171449697 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Low cost, Differentiation and Focus are examples of:

Options :

Corporate strategies
. Operational strategies

Business strategies
3.¢

Functional strategies

Question Number : 108 Question Id : 5171449698 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

refers to the process of conducting research on a company and its
operating environment to formulate a strategy.

Options :
Strategic management

) Strategic analysis

3 % Sensitive analysis

Simulation analysis
4, ®

Question Number : 109 Question Id : 5171449699 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The BCG Matnix 1s based on:
Options :



Industry Attractiveness and Business Strength

> % Industry Growth rate and Business Strength

Industry Attractiveness and Relative Market share
3. %

Industry Growth rate and Relative Market share

Question Number : 110 Question Id : 5171449700 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The concept of marketing mix was developed by-
Options :
Neil Borden
1. ¢

) % Neilsen

3 % Philip Kotler

Stephen Morse

Question Number : 111 Question Id : 5171449701 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is more of personal medium of advertisement?
Options :

| % Internet advertisement

_ Broadcast Media
2. %

3 « Direct mail advertisement



4 % Print Media

Question Number : 112 Question Id : 5171449702 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If a company wants to build a good “corporate image.” 1t will probably use which
of the following marketing communications mix tools?
Options :
Advertising

1. *

) % Sales promotion

Direct marketing

4 Public relations

Question Number : 113 Question Id : 5171449703 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is not included in 7 Ps of marketing mix given by
Booms and Bitner?

Options :

| % Process

R 4 Performance

3 % Physical Evidence

People
*

Question Number : 114 Question Id : 5171449704 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which among the following are elements of communication mix?
I. Pricing
II. Publicity
III. Personal selling
IV. Advertising
Options :

LIIIII

LIL IV
2. %

IL III. IV
3.¢

LI, IV

Question Number : 115 Question Id : 5171449705 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Match the List- I with the List- II.

List - I List - II

Strategy of engaging audiences who have
already interacted with your brand. to
I Market penetration (a) encourage them to take a desired action
that may interest them. such as
conversion.

Strategy wherein all marketing efforts on
II | Market skimming (b) | one selected segment within the total
market

Civil engineers designing flats. willas,
bridges ete. are an example of....

@ Strategy which is concerned with pricing
policies for late entrants to a market
Strategy where marketers charge higher
v Remarketing (e) price of its product and service in the

beginning. and then reduce it over time

I | Customized marketing (c)

IV | Concentrated marketing

Choose the correct answer from the options given below:
Options :
L I(d). II (e), I1I (c). IV (b). V (a)

1(e). II (d). III (a). IV (c). V (b)

I(c). I (b). III (d). IV (e). V (a)

, % [@TE. M®).1V (). V()

Question Number : 116 Question Id : 5171449706 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The customer or consumer is when actual performance exceeds the
expected performance of the product.

Options :

| x Happy



, % Satisfied

“ Dissatistied

Delighted
4.9

Question Number : 117 Question Id : 5171449707 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consumer decision making which reflects a high level of purchase involvement is
referred to as:

Options :
Nominal CDM

Extended CDM
2.9

Limited CDM

4% Habitual CDM

Question Number : 118 Question Id : 5171449708 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Soft drinks. ice creams. chocolates and biscuits are products that fall under the
category of:

Options :

Impulsive
1. ¢

 Deliberate
2. ®



; % Convective

4% Corrective

Question Number : 119 Question Id : 5171449709 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is not an objective of Brand management?
Options :

To establish an identity for the product or a group of products.

To establish image for the produet or a group of produects.

2. %

To do telly calling and acquire sales
3.¢

To acquire place for the product in consumers’ minds for high and
L % consistent quality.

Question Number : 120 Question Id : 5171449710 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

3 C’s of branding are: consistency. constancy. and

Options :

Continuity
1. %

. Coverage
2. ® e

Collaboration



4 Clanty

Question Number : 121 Question Id : 5171449711 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The purpose of supply chain management 1s to:

Options :
| % Increase the production level

» « Manage and integrate supply and demand management

3 % Enhance the quality of a product and services

Provide satisfaction to the customer

Question Number : 122 Question Id : 5171449712 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Green marketing 1s a part of:
Options :
Social marketing

Service marketing
2. ®

Relationship marketing

4 % Rural marketing

Question Number : 123 Question Id : 5171449713 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Match the List-I with the List-II and choose the correct option from the options

given below:

List -1 List - II
I Value for money (a) Consumers look for quality in brands when
style shopping
m Quality oriented (b) Consumers stick to the brand across product
style categories brought over a period of time
Loyalty style of _ Consumers buy without much analysis or
I shopping (c) mnformation

Consumers to focus on the best power gain
IV | Impulsive style (d) | not just the price but enhanced price
performance equation

Options:

Options :
L I(d). I (a). III (b), IV (c)

I(b). II (d). III (a). IV (c)

I(c). II (b). III (d). IV (a)
3. %

I (a). II (d). III (b). IV (c)

Question Number : 124 Question Id : 5171449714 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  If the value of mode and mean 1s 60 and 66 respectively. then the

value of median 1s 64.

Reason (R): Median = (Mode + 2 Mean)
Options :

. Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
1.



Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

2. ®

(A) 1s true, but (R) 1s false
3. %

(A) 1s false. but (R) 1s true
4, %

Question Number : 125 Question Id : 5171449715 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The average daily wage of 100 workers in a shipyard was Rs. 200, with a standard
deviation of 40. Now. if each worker gets an increment of 20% in their wages. how
will 1t affect the mean wage?

Options :
The mean wage will remain unchanged
1. #
The mean wage will be increased by 20%
2. %

3 % The mean wage will be Rs. 240

Lo Both (B) and (C)

Question Number : 126 Question Id : 5171449716 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If we throw two dice simultaneously. what would be the probability that we get a
10or 117

Options :

5/36
1. ¢

, % 5/12



Question Number : 127 Question Id : 5171449717 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Standard normal distribution has which of the following properties:

Options :

Mean = Variance =1

Standard Dewviation = Variance = (0

2. %
Mean =0, Variance =1
3. %
4% Mean = Standard Deviation

Question Number : 128 Question Id : 5171449718 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a Non-parametric Test?
Options :

| % F-test

Chi-square test
2.¢

Z-test



T-test
4, %

Question Number : 129 Question Id : 5171449719 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements i1s correct about the arithmetic mean of two
regression coefficients?

Options :

|« It1s greater than the correlation coefficient

) % It 15 less than the correlation coefficient

It is equal to the correlation coefficient

It 15 greater than or equal to the correlation coefficient
4. ®

Question Number : 130 Question Id : 5171449720 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statement — 1: The critical path in PERT represents the shortest path in a project
network.
Statement — 2: Activities on the critical path have zero slack time.
Options :

Statement-1 1s correct, but statement- 2 1s wrong

) % Both statements- 1 and 2 are wrong

v Statement-1 1s wrong. but statement-2 is correct
3‘ -



Both statements- 1 and 2 are correct
4, %

Question Number : 131 Question Id : 5171449721 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a transportation problem with 4 supply points and 5 demand points, how many
numbers of constraints are required n its formulation?

Options :

1. % 20

Question Number : 132 Question Id : 5171449722 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A PERT network has 9 activities on its eritical path. The standard deviation of each
activity on the eritical path 1s 3. What 1s the standard deviation of the critical path?

Options :
81



Question Number : 133 Question Id : 5171449723 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which i1s the right sequence of stages of Internationalization?
Options :

Domestic. Transnational. Global, International. Multinational

Domestic, International. Multinational. Global, Transnational

3 % Domestic, Multinational. International. Transnational. Global

Domestic. International. Transnational. Multinational. Global

Question Number : 134 Question Id : 5171449724 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a foree in the Porter Five Forces model?

Options :

Buyers

Suppliers
2. %

Complementary products

4 % Industry rivalry

Question Number : 135 Question Id : 5171449725 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The theory of comparative cost advantage 1s given by:



Options :
| David Ricardo

) % Adam Smith

F.W. Taussig
3. %

4 % Ohlin and Heckscher

Question Number : 136 Question Id : 5171449726 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with the List —IT and choose the correct answer from the options
given below:

List-I List -1I

Lead and support Six-Sigma projects, align them with
organizational goals. and secure necessary resources.
(b) Act as subject-matter experts and provide guidance and
coaching to project teams.
. . Participate in Six-Sigma projects, assist with data
I | Green Belt | (c) P N pIaeets: Ay ;
collection and analysis, and support improvement efforts.
s | % y | Serve as team members. support project activities, and
IV | Yellow Belt | (d) POME ; L i
assist with basic data collection.

I | Champion (a)

I | Black Belt

Options:
Options :

| x 1(0).1(a). I (0). IV (d)

I(a). IL(b). III (). IV (d)

2. ¢

I (a). II (b). III (d). IV (c)

I(c). II (a). I (b). IV (d)



Question Number : 137 Question Id : 5171449727 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A):  International business environment differs from country to
country and even region to region within a country.

Reason (R): The business environment consists of mterrelated and dynamic
torces.

Options :

| % Both (A) and (R) are true, and (R) 1s the correct explanation of (A).

) Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

3 % (A) 1s true. but (R) 1s false

(A) 1s false, but (R) 1s true

Question Number : 138 Question Id : 5171449728 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term Euro Currency market refers to:

Options :

The market in which Euro 1s exchanged for other currencies
1. ®

The international foreign exchange market
2.

The market where the borrowing and lending of currencies take place
3« outside the country of issue

The countries which have adopted Euro as their currency
4. %



Question Number : 139 Question Id : 5171449729 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Information technology 1s the combination of computer science and-
Options :

| % Electronics

Telecommunications

2.¢

3 % Networking
Digital marketing

4. %

Question Number : 140 Question Id : 5171449730 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is known as ‘*knowledge discovery database’?
Options :

| % Cloud storage

Data warchousing

2. %

Data mining
3.¢

Decision science system
4. %

Question Number : 141 Question Id : 5171449731 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



When was IMF established?
Options :

27" December 1945
1. &

1% January 1946

3 % 30% JTanuary 1947

24 September 1947
4, %

Question Number : 142 Question Id : 5171449732 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which bank has been established in China by BRICS countries?
Options :

New industrial development bank
1. %

New agricultural development bank
2. %

New development bank
3.

New commercial bank
4, %

Question Number : 143 Question Id : 5171449733 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements does not explain the difference between
entrepreneurship and management?

Options :



Entrepreneurs find the business, managers run it

Entrepreneurs own their businesses, manage employees

3 % Entrepreneurs earn a profit. and managers get a salary

Entrepreneur is a one-time job. and management is an ongoing process.

Question Number : 144 Question Id : 5171449734 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following type of Entrepreneurs are also known as pure
entrepreneurs because of their desire for self-fulfilment?

Options :

i Spontaneous Entreprensurs
1. %

. Technical Entrepreneurs
2. %

Business Entrepreneurs
3. %

Professional Entrepreneurs
4, %

Question Number : 145 Question Id : 5171449735 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is a social enterprise?

Options :

Sulabh Complex
1. ¢



_ ECIL
2. %

3 % Indian Railways

, % TSGENCO

Question Number : 146 Question Id : 5171449736 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with the List —II and choose the correct answer from the options

given below:

List - I List -IT
I E11t1'ep1‘vle11nfur$h1p and G | A ThbadisTH
Innovation -

b) Pradhan Manthnn Matsya Sampada
Yojana (PMMSY)
IOI | Think Tank (c) Atal Innovation Mission

IV | Machine Learning (d) | Nit1 Ayog

IT | Gaps in Value Chain

Options:

Options :

% 1©. (). DI (@), IV ()

I(c). II (a). III (d). IV (b)
2. ®

s v 1©.10). M@, V@)

I(d). II (b). III (), IV (a)
4, ®

Question Number : 147 Question Id : 5171449737 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



NITI AYOG. Government of India, has launched a scheme to develop ecosystem
for women entrepreneurship in India. Identify the scheme out of the following:

Options :

Women Empowerment Agency
1. ®

- Women Entrepreneurship Platform (WEP)

Nari Shakthi Ayog
3. %

Women Knowledge Center

Question Number : 148 Question Id : 5171449738 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Screening of business ideas involves analyzing the financial
projections and determining the potential profitability of business ideas.

Reason (R): Screening helps identify and mitigate risks associated with a business
idea. ensuring a higher chance of success.

Options :

. Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
1.

) % Both (A) and (R) are true. and (R) 1s not the correct explanation of (A).

- (A) 1s true. but (R) 1s false

(A) 1s false. but (R) 1s true
4.

Question Number : 149 Question Id : 5171449739 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in the correct sequence for conducting market entry
teasibility analysis:

I Evaluating market potential size

II. Assessing competitive landscape

I11. Analyzing regulatory and legal framework
Iv. Identifying target customer segments

V. Conducting cost and risk analysis
Options :

LI IV, II,and V
1.
LILOLIV.and V

2.8

3 % I, ILL. IV, and V

IV.LIL I and V

Question Number : 150 Question Id : 5171449740 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

With reference to the Micro Small and Medium Enterprises (MSMEs), consider the
tollowing statements:

(a) This sector 1s the largest employer of human resources 1n India.

(b) It generates more employment opportunities per unit of capital mvested
compared to large industries.

(c) These industrial enterprises account for 45 per cent of the industrial units in
the country.

Which of the statements given above is / are correct?

Options :

(a) only
1. ®

(b) only
2.¢



- (a) and (c) only

(a). (b). and (c)

4. %



